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BER BESEERDES
% i B - IRk By B i & & =

BRI 21,283,260 + 3,979, 684 25, 262, 944
EEAGE 21, 283, 260
EERE 3,979, 684
Z DR 21,283,260 x 42.86% ( 30% + (1 — 30%) ) 9,122,005
BRI 25,262,944 + 9,122,005 34,384, 949
—REERE 34,384,949 x 53.85% (35% + (1 — 35%) ) — 1,244 18,515, 051
REE 34,384,949 + 18,515,051 52, 900, 000
HEREALE 52,900,000 x 10.00% 5,290, 000
EHRAH 52,900,000 + 5,290, 000 58,190, 000




HEENRE B ERREERE

% R g - BARTE Bifi % = B ff ® % m =
BRI 25,262, 944
BRAEDERMES 25,262, 944
GRAEESWHMES 25,262, 944
EEAGE 21, 283, 260
BEEWES 20, 513, 760
1 BEEWMBER 24.00 854, 740 20, 513, 760
A
EN=Rch 684, 000
2 TEHE 24.00 28,500 684, 000
@l
s - |E 85, 500
3 HiE - BE 3.00 28,500 85, 500
]
E#EREE 3,979, 684
EHAME 195, 561
4 EBRARE 1.00 195, 561 195, 561
=
BEKERARE 391,123
5 BEHEERN 1.00 391,123 391,123
=
EBEREDEEN - EGEF 1, 200, 000
6 EFAEDEEYN - BLES 1.00 1,200, 000 1,200, 000
=
EBEREBZEHRVBRRES 2, 160, 000




HEENRE B ERREERE
2 o 1B - KT By ! i & % H =B
1 EBEAEHREEHRUVERES 1.00 2,160, 000 2, 160, 000
%
XBHRRRE 33,000
8 (B EMRE 1.00 33,000 33,000
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GEREBEEWEIES

&S 1
£ BEEHEER 1#RA&Y (1R)
% b R - BIKTE BAGL = B £ W E B %
BERNE FRETA
A 0.70 57,000. 00 39, 900
ELEHE FRETC
= 1.00 814, 840. 00 814, 840
& it 1E%8:0 : 1.008 854, 740. 00 854, 740
&5 :2
&M TEE 108
2 b K - BIKTE =R i3 = B Ol ® # H E fm &
B TE $REMA
A 0.50 57,000. 00 28, 500
& it 1EZ%8EH - 1.00[H 28, 500. 00 28, 500
&5 :3
2% HE - ]S 108
£ b K - BIKTE BAGT = B Ol ® # Hm E w =
EEHMTE FREHA
A 0.50 57, 000. 00 28, 500
=) it {E38E - 1.00[H 28, 500. 00 28, 500
&5 :4
2% EHRARE 1KLY
£ L R - BAIRTE By = B O £ % Hm E B &
EHHARE
=® 1.00 195, 561. 00 195, 561
=) G EZE5ERH - 1.00K 195, 561. 00 195, 561




RER-FET/Svr—o EEAEEREES
‘S5
2 BEBERY EET)
2 m 1BIE - BIRTE Bify B B % w = &
BEBERH
= 1.00 391, 123.00 391, 123
a it YE%¥8EH - 1.00K 391, 123.00 391, 123
BEES:6
2 LEAADEEY - BERE s
2 o 1B - IR Bif B B fE P w = %
EZ I IEE =)
= 1.00 1, 200, 000. 00 1, 200, 000
a it EZ¥EfEN - 1. 00K 1, 200, 000. 00 1, 200, 000
BE 7
2F  LHAEREENRUBRES s
2 m 1B - IRTE B R B # w = &
ERRERZEERRUBRE
= 1.00 2,160, 000. 00 2,160, 000
= it YEZEREN - 1. 00K 2,160, 000. 00 2, 160, 000
&2 .8
BF  EBHRERE 1
) m 1B - ARTE Bify B B # w = i
£BRERE
= 1.00 33, 000. 00 33, 000
= it E%8eH - 1. 00X 33, 000. 00 33,000






